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° FWT T F & & 59 geT-7H F FRa gv 15 T
797 27 81

Please make sure that the printed pages in this
question paper are 15 in number and it contains

27 questions.

o T97-UF 7 qlfed & # 9T 77 T FT T 79 G FH
B F-YIkTel % J&g-95 T [o7d)
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.
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® YT J97 F FV [i@T §&@ #I7 d el JIT B FHEH
T forad

Before beginning to answer a question, its Serial

Number must be written.
o JTT-giaH % &% 4 @il G/ 91 T B
Don’t leave blank page/pages in your answer-book.

o FUT-gRGE % Slandd #E o4 de TE el o
SEPTEATEr & g Gt frar v 7 @2

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o GXETE ST Rl To FIT-YA YT a9 o7
Candidates must write their Roll Number on the
question paper.

» U g5 1 FV &7 & {4 I8 GrRET T T B 997-97
g7 q 78 & YO % Iy 54 a9 § #HE A @
@B Tel AT ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.
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G~ 35T : -
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(vi)
(vii)

a4t g9 s &
J9% J97 % 3% FqH T T TT 8

Jo7] % T T HABITAT

797 GEI] 27 97 % A @ 977§ q60d 8l
97 % qrif=E @ qeRT Sy Fv-greasEl & &
Forged & S

HIAE 9T 9] Fae-gréaen & #H% Savd iG]
5 9% a O Fol F E 797 FaAT [T

T 8 08 oAt 7§ @ onvm dad % & g7
T &1

General Instructions : —

(9
(%)

(iii)

4313/(Set :

All questions are compulsory.

Marks for each question are indicated

against it.

Answer questions according to their marks.
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(iv) Question No. 27 is related to filling the
outline map of the World.

(v) After filling the map of the World it should be

securely tied in the middle of the answer-book.

(vi) You must write your Answer-book Serial No.

on the map.

(vii) Internal choice is given in some questions of
5 marks. You have to attempt only one of

the given choice in such questions.

1. 9RA § gl QO SO %e g3 1
When was the first complete census held in
India ?

2. IR 7 5 79 § waies T ¢ 1

Which State of India has maximum migrants ?

3. favg § 9@ A% THEE al TR HHA-A1 2 ? 1

Which is the largest populated town of the
World ?
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4, EHFEE 999 & & Ay g 1

Write two activities of the earliest man.

5. 9Rd @I kg T et § e HEer &8 7 7 1

In which river valley of India Gondwana coal

fields is situated ?

6. fafer ol wer Reg 2 7 1

Where is the Silicon Valley located ?

7. TEASIT TeME b & TR B Hedr § ° 1

Which two towns are connected by

Transcanadian Highway ?

8. PHN-H TR T Yea fAfew T s+ ? 1

Which town was the first Urban settlement to

reach a population of one million ?
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9. R H I WA AYSH & YqW HAed B TH e 1

Write the name of the Headquarter of the

Northern Railway Zone.

10. f=fiea & § f69 werEiv & sHaen gis it & ¢ 1

() =feror oafE
(1) IR R

Which one of the following continents has the

highest growth of population ?
(A) Africa

(B) Asia

(C) South America

(D) North America
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11. F=fafed & § $9-a1 @ gfoed &RE 78 7 ? 1

()  ferfercan/Qeors gfremd

(1) v

Which one of the following is not a push factor ?
(A) Water shortage

(B) Unemployment

(C) Medical/Educational facilities

(D) Epidemics

12. F=fafed & @ $H-a1 39 S 99 [OH a3 78

g7 1
(%) ST (@)
(M) fr= (9) oFioeHT

4313/(Set : A) P.T.O.



(8) 4313/(Set : A)

Which one of the following is not a country with

high human development ?
(A) Japan (B) Norway

(C) Egypt (D) Argentina

13. Rl & g & de e arn § o § 7 1
() wEfor @ TRE
(@) Tmier & e
(M) e a TRE
(1) T | Aw
In which stream female migration is highest ?
(A) Rural to Urban
(B) Rural to Rural
(C) Urban to Urban

(D) Urban to Rural
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14. fr=fafag § 9 69 w@ERe & oRRa ardor sRaar @
oe 7& @ ST G ? 1

(®) W F SG A

(@) fewraa @t Fraeh aifeat

(M) T % g A AG-gH T
(9) ST-T@ & a9 A gersAr

In which of the following environments does one
expect the presence of dispersed rural

settlements ?

(A) Alluvial plains of Ganga

(B) Lower valleys of Himalaya

(C) Arid and Semi-Arid regions of Rajasthan

(D) Forests and Hills in North-East

15. fr=fefag & & 59 a¥ § vear A FEwEw gaRa

gem & ? 1
(®) 1911 (@) 1936
(m 1927 (@) 1923
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17.

18.

19.

(10) 4313/(Set : A)

In which of the following year, the first radio

programme was broadcast ?

(A) 1911 (B) 1936
(C) 1927 (D) 1923
yae & T gRem @ & 7 2

What are the Economic Consequences of

Migration ?

IRTF B BT B T SR & 7 2

What is the basis of classifying settlements ?

o gfaeT & F1 A 8 ° 2

What are the advantages of water transport ?

e |9l & famr FRieH & I8 | 3

Write the objectives of Drought Prone Area

Programme ?

4313/(Set : A)



(1) 4313/(Set : A)

20. A4 [JHME FTTUROM & ST Godr X gad queligar
T oY FT g9 © ° 3

What do equity and sustainability refer to within

the concept of human development ?

21. T 3R Qs § oY W Hi 3

Distinguish between Port and Harbour.

22. SHihHIA GHAOT W U Hiera fewolt iR 5

Write a short note on Demographic Transition.

YqT

OR

IRA § SEe g #i e sraenelf & aue Hift

Discuss the different stages of population growth

in India.
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Tl IERY AR dived e g # R W
i 5

Differentiate between Nomadic Herding and

Commercial Livestock Rearing.

AYqT

OR

TAGIY TS FT B 7 g oMY died B 6 ¥E §ad
qryofi e & o wewaqel i o R G © 7

What is Watershed Management ? Do you think
it can play an important role in sustainable

development ?

IR & AB-9T%h & IR I [Jaxor &1 auF &4 5

Describe the production and distribution of Iron-

ore in India.
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YqT

OR

IR § STURET SHoft & diEFl W) T e o

Write a note on Non-conventional Sources of

Energy.

25. = 5R & Igd TER @ Bearel @ arew & 5

Explain various type of Quaternary Activities.

YqT

OR

qd § A SERT & 90X 9 ST &l qUie i)

Describe the distribution and production of

Sugar Industry in India.
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26. ‘Ag GGWOT & HROT g YA H qUH o1 5

Describe the causes and effects of 'Air Pollution'.

YqT

OR

‘G-I W wsh e ferim

Write a note on 'Land Degradation'.

27. RU U fyg & Y@ gEttE W frefaed @& sifed
FHIfoTT : 1x5=5

Show the following on the given outline map of

the World :

i
Perth,

(i) <A,
Tokyo,
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(iii) ¥R,
Narora,

(iv) Sy,

Jaipur,

(v) Ol

Paradeep.
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